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Assn 21

1 11 11
e —1 — w—=1)_. —_— - —_—
29. < {(52+1)(s?+4)}_'f {3 s24+1 3 32+4}

1
= gsint— Esin?t

31. The Laplace transform of the initial-value problem is

Sif{y}—y(ﬂ)—if{y}=§-

Solving for Z{y} we obtain

L 1 1
& = —— .
Wh=—+.=9
Thus
y=-—-1+ e

33. The Laplace transform of the initial-value problem is

[ i e 1
sZ{y} —y(0) + 6 L{y} = —.
Solving for ¥ {y} we obtain
1 2 1 1 19 1
Ly} = _1o1 11
t} (5_4)(5+6) 546 10 s—4710 546
Thus . L9
L 19 g
V=1 ¢

35. The Laplace transform of the initial-value problem is
s £{y} — sy(0) — ¥'(0) +5[s L{y} —y(0)] +4L{y} =0.

Solving for #{y} we obtain

o s4+5 4 1 1 1
y) = - —c—— -t
s+ 5s 4+ 4 3s4+1 3544
Thus A .
y=§€_*—§€_‘“
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Assn 21

37. The Laplace transform of the initial-value problem is

2

Sy} — sy(0) + £y} = 73

Solving for #{y} we obtain

21y} = 2 L 105 _ 105 2 2
W E @) 12) £+l 241 2+1 £2+2

Thus
y = 10cost + 2sint — V2sin V21,

39. The Laplace transform of the initial-value problem is

2[s* £y} — s”y(0) — sy/(0) — " (0)]+3[s” L{y} —sy(0)—y/(0)] -3[s L{y} —y(0)] -2 L {y} = :11 :

Solving for £ {y} we obtain

. 25+ 3 1 1 5 1 8 1 1 1
Ly} = = +— -z += ,
(s+1)(s—1)(2s+1)(s+2) 2s+1 18s—1 9s54+1/2 9s+2
Thus . . < .
_ Lt -t , 2t S 42 1 =
y=ge + 5¢ ~5° + 3¢
41. The Laplace transform of the initial-value problem is
: s+3
Vi Vi ==\
Solving for #{y} we obtain
s+3 1 1 1 s+1

s+ 3 2
4 s+1 4\(s+32+4 (s+3)244)°

Thus

1 1
y=—e  — ae_m’ cos 2t + 38_3?' sin 21.
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